P10

785

126

lChEE>H ;55_'_{1\/75‘(,\

)\—M’F%RAEE D $HES = the lecture of Mr A who is a popular author /
¥ <subject particle> /

sh&>

#£8 = free, free of charge, no charge /

AQA QA

} I LT = make it free (of charge) and ....
ERYICH-T
: 1} & LT =as free of charge (N2 No.1)
} & & > T =Dbecause it is free of charge (and this is the special situation), (N1 P21

< D 7 7>~ =many fans /
75\ <subject particle> /

67)75\ |F77co = crowded = <plain-style-past-affirmative> of uu&)b\ |7& 9 g2 (to crowd (a
house), to throng to (a door), gather)

lch & > h I3 ZADW

A_VVIE%-QA.EE ) u%iﬁrﬁ%b\ s *’I’ & 359—( < @D 7 7/7’3\ (y)b Lj—t_o =

Because the lecture of Mr A who is a popular author is free of charge (and this is the special
situation), many fans gathered.

127

%Iféb\'a = from a city /

lbﬂfi% = countryside /

\C <arrival particle> / ]

%D fi/u 2 = moved to a new home = <plain-style-past-affirmative> of %D &o”%i@“ g1 (move
house, move to a new home) /

zj\t@ L%%b = person’s talk (speech) /

— the talk of the person who moved to a countryside from a city /

%Z <direct-object particle> /

= =
& < = <plain-style-nonpast-affirmative> of B = &£ 9 g1 = listen, hear, ask
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YAQkQAe

1. {E%(} IC DIF =whenever | hear .... (N2 No.127)

2. {I%ﬁ {}ED = as soon as (X) listen .... (N1 P3 No.6)

3. {F'Hﬁ<} sl = {Eﬁﬁ<} & WS D & = the fact that (X) listen ...

4, {%ﬁ(} CLTHD & = x[noun]ic LT &% & =from the viewpoint of [noun], from the
standpoint of [noun]

PAQAQAS
réﬂ%—? = countryside /
|& <topic particle> /
zj\t = person /
%Z <direct-object particle> /

nwp

# 9 = <plain-style-nonpast-affirmative> of JK L&E9J g1 =heal/

gjﬁjb = power, force, strength, energy, might /

%Z <direct-object particle> /

1%3 T W5, = <plain-style-nonpast-affirmative> of }%9 T WZX I = be holding now, have,
possess

* 1‘%7’5 &9 g1 =hold

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

& <quotation particle>

<D< =completely, really, thoroughly, deeply, severely, intently

fJ/u

U %, = <plain-style-nonpast-affirmative> of /2% b X9 sg2 =feel //

W 7R (£3249] vE WP EM5

HANS H&C BOEAE AD 2% B< 1o D, "Helk A% B HE HoT W3, &
2< DK @?b%o

Whenever | hear the talk (story) of the people who moved house from a city to a countryside, |
deeply feel that a countryside has the power which heals people.

(128

Z@%‘% = this pot /

|& <topic particle> /

W7 &D% = the thing which (X) stir-fry, stir-fired food /
IC <purpose particle> /

?% b“% = the thing which (X) deep-fry, deep-fried food /

I <purpose particle> /
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&/

= (X)IC (Y) T & =(X) I B (Y) IC B =for the purpose of both (X) and (Y)

?Th [C T%H =for any purpose /

ﬁz’( = ﬁzi@“o ZULT. =canuseand ..

* ﬁz.i@“ = can use, be able to use = potentlal-verb of 19%\\,\§§“ g1 (use)

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well.

N h b

EFITI, =(X)is convenient. //

AAN 0 » “50) ik 97)\§ ~ A b
ZOMIE. WesBIc, BIFPYIc & flic T F2T BT, =
We can use this pot for fried food and deep-fried food or any purpose, so it is convenient.

[ 129 (the same as JLPT N2 Official [ 135)
5&5UL
7Y > —®d FF = condition of a printer /
¥ <subject particle> /
b3 b3
BLRRD, =8B B>7T, =& I&>fce 2UT. =became worse
* 7% o fz = became = <plain-style-past-affirmative> of 72 D £ 9 g1 (become)

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal. /
ﬁu?iﬁubﬁ
BlyES4t = manufacturer /
IC <recipient particle> /
& %
F'nE,IL\Abt*ﬁ_ 5 = If (X) inquire, When (X) inquire, (X) |an|red and | tell you what happened
* F‘ﬁb\/\bttt = <plain-style-past-affirmative> of F':ﬁL\AbtJ:iﬁh g2 = inquire
* [plain-style-past] 5 = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~ and | tell
you what happened /
fch&ESUL®
BZ> 0 {H242& = the person in charge over there /
[C = (be done ~) by (a person) /
H1 I = this and that /
LDbA

B[ = question /
[T/

TR

1.

A3 HIF<. =(X) made (Y) answer and finally ~
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nm

Z 2t 7c = made (a person) answer = <p|a|n style-past-affirmative> of &Kéﬁ:i? (make
(a person) answer) which is causative-verb of AZ.&@“ g2 (answer)
* [ta-form / noun D] & (¥ < =did ~ and finally ..... (N2 No.133)

(‘4[\)

fe

KZ_ IEENS HIFK., x>FZX SN HIF<. = (X) was made to answer (by a
person) and finally ~

o

<
I\-

* '&Z_ 2 5N/ = was made to answer (by a person) = <plain-style-past-affirmative> of &

=¥ 57 F 9 which is the causative-passive-verb (be made to answer (by someone)) or the
e

causative-potential-verb (can make (a person) answer) of & X £ 9 g2 (answer)

* [ta-form / noun @] & (F< =did ~ and finally ..... (N2 No.133)

3.
% 2% HIF<. x— &xéﬁrt_ HIF<. =(X) made (Y) answer and flnaIIy ~
Z_éttt = made (a person) answer = <plain-style-past-affirmative> of &Kéﬁ:i? (make

:m

il
(a person) answer) which is causative-verb of & X &9 g2 (answer)
* [ta-form / noun D] & |F< =did ~ and finally ..... (N2 No.133)

(X}

}N ‘T\"'

SE¥snk BiIF<. =(X) was made to answer (by a person) and finally ~
r EHZ ¥ 5N =was made to answer (by a person) = <plain-style-past-affirmative> of & ’LU
=¥ 57 F 9 which is the causative-passive-verb (be made to answer (by someone)) or the
causative-potential-verb (can make (a person) answer) of ’Z’étii@“ g2 (answer)

* [ta-form / noun @] ¥ < =did ~ and finally ..... (N2 N0.133)

AQA QA

fenwg >

X5 T =73\ = cannot correspond, cannot keep up with, cannot deal with, cannot cope with =
fewg S

<plain-style-nonpast-nagative> of X3/ C= X9 (can correspond, can keep up with, can deal

with, can cope with, be able to correspond, be able to keep up with, be able to deal with, be
able to cope with) of %Fﬁ L &9 g3 (correspond, keep up with, deal with, cope with) /

& <quotation particle> /

%bh?‘:o = was said = <plain-style-past-affirmative> of %bhi@“ (be said, be told) which is

the passive-verb of §\b\ x9 g1 (say) /

&

5£50 t‘b\%otab\btb ESLP

TUVE—0 FEH BB, HE ﬁu%ﬁTﬁMAbﬁtb RS0 HELE .

chEMIC Ex SEOhk BT, TETERWN & Shhf, =

DD$S
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The condition of the printer became worse, so | inquired at the manufacturer over the phone.
Then, | tell what happened. | was made to answer many questions (this and that) by the person
in charge, and finally | was told that he was not able to deal with it.

130
[}
Z®H. =onthatday,/

o)V

Fr=1/

|& <topic particle> /
=4

Thlw
—LA A>T i/ BEH = the train which came into the platform
=qA [=4A

* A2 T &z = came into = <plain-style-past-affirmative> of A>T Z X9 g1 = come into,

enter into, arrive
IC <arrival particle> /

& D & D
RO FE> o =jumped on = <plain-style-past-affirmative> of /RU* &0 £9 g1 (jump on) /
EZTBH, =but/

ThU»

BB E = train/

|& <topic particle> /

[FAEWESZS

X3 751E = opposite direction

IC <arrival particle> /

[=4¥} =¥} [z4% [z3%

FE D A&z = started to run = <plain-style-past-affirmative> of £ D 3R £ 9 = start to run
FUG
* [masu-form] %26 £ 9 = start to do ~

AQA QA

1
{% D gé&)fc} TIE &\, = <plain-style> of ‘{% D gé&bfc} TlE BHD ERFA- '=(X)is not
‘hashiri hajimeta’.

2

(=49 U

GED o1z} Tlk BUDY = <plain-styles (GED $a12) Tt 3D F A = Tomy

surprise, (X) started to run
* [plain-style (‘da’ in ‘[na-adjective / noun]’ must be left out.] Tl D XEA D =Tomy

surprise, (X) do (did, etc.) ~
3
[z4%} [FU (=4V] 3%}
{FED a6} D TlE 7&L\, = <plain-style> of {(ED B&HI} D Tid H D FE Ao = (X) doesn’t

start to run. | really want to say so
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M Tl & D XA =the

negative of ‘..... DT3I”’
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4
z4% z3% [z4% z3¥%

{GFED R} D TIE BLD = <plain-style> of {ED RO} D TlE HHD FEAD =(X)
started to run, don’t you think so? (, | want to confirm with you.)

TR

bl

=1/
|& <topic particle>/

T/ub\b %)

BED 17%5‘6 = the destination of the train /
% <direct-object particle> /
%:Ebb‘&bmi)‘o fc T & =the fact that (X) didn’t confirm
* %b\&)@b\g fc = didn’t confirm = <plain-style-past-negative> of %73\&) 9 g2 (confirm,

ascertain) /
%Z <direct-object particle> /

Z5HhWn Z W
%M U7z, =regretted = <plain-style-past-affirmative> of %L £9 g1 (regret)

[6) bl [=4A ThUL» tl . D . ThU» [FATZWESZS [=4¥] =492
Z®DH. FAl& R— Ah_ ADT EBEICRO E-STz. ECBN, BE KXIAMEIC ED 5
bl T/ub (A = =L Z5HhL
SHic TIEEWD, FAIT E $0J TE%z Ehoh-fc c&%x #BiEUKL, =
On that day, | jumped on the train which came into the platform. But, to my surprised, the train
started to move to the opposite direction. | regretted that | didn’t ascertain the destination of the
train.

(131
(4 >% E 2 —T) =in the interview /
A
HE
'&ET =in the shop /
W5igA &

-% K% DFT W3 Z & =the thing which (X) pay attentlon most /
’d’: DF T W3 = <plain-style-nonpast-affirmative> of —u’d': DT W&ET =be paying
attention now
* ’7%% DI+ E 9 g2 = pat attention, be careful, take care
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
|& <topic particle> /
fIcgh. 1 =whatis (X)?/
B
L%ZE;%%’CQZ = (X) is hygiene management. /

HE K = customer, customer /

IC <percipient particle> /
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L& U

BE =meal/

%Z <direct-object particle> /

AQA QA

1
WG &>

{ﬁ%%} ) Il:l:ll L I 725 Lk =as long as (my superior) serve ameal (N2 No.134)

B tl:'. LIC&d = <p|a|n style-nonpast-affirmative> of & Jﬁ_ 72D £9 which is the
deferential-verb of 'd:‘. L X9 g1 (take out)

* 3’0 [masu form] IC 7& D ¥9 g1 = deferential-verb

* ﬁ%’& tl:'. LZ%9d =serve ameal

* [plain-style (‘da’ in ‘[na-adjective] da’ becomes ‘na’ and ‘da’ in ‘[noun] da’ becomes ‘de aru’. We

WO &>

also ‘[na-adjective] de aru’] L{_E =as longas ~ (N2 No.134)

2

{ﬁ%"a}} S tl:'. U IC 783 5 X = (my superior) serve a meal and what’s more .

B |':|:|' UICad = <pIa|n style-nonpast-affirmative> of & L )] i@“ g1 which is the
deferential-verb of Hj U E 9 g1 (take out)

* EFo [masu form] IC 78 D £ 9 g1 = deferential-verb

“BEE tl:'| L%9d =serve ameal

* [plain-style (‘da’ in ‘[na-adjective] da’ becomes ‘na’ and ‘da’in [noun] da’ becomes ‘no’.] 2 2
(IC) = ...., and in addition, ~ ; ...... , and what’s more, ~ ; .....and, moreover, ~ ; not only .... but
also ~/

3
Wi &>

{ﬁ%’a}} D) tl:i U 9% LIk =aslong as | serve a meal

B .':|:|' b 9 % = <plain-style-nonpast-affirmative> of & .':I:'. L UZE 9 g3 which is the humble-
verb of 'dj L E9 g1 (take out)

B [masq form] U &9 g1 = humble-verb

* é%% HUE9 =serve ameal

* [plain-style (‘da’ in ‘[na-adjective] da’ becomes ‘na’ and ‘da’ in ‘{noun] da’ becomes ‘de aru’. We

WG &>

also ‘[na-adjective] de aru’] L{_E =as longas ~ (N2 No.134)

4

{ﬁ%%} D) t|:|' L 9% S X =1serve ameal and what'’s more .....

*H tl:'| L/ 9 % = <plain-style-nonpast-affirmative> of & H:'. L U %9 g3 which is the humble-
verb of 'd:'. L X9 g1 (take out)

* & [masu-form] U X9 g1 = humble-verb
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L&<U e
*BEZ HUXT =serve ameal
* [plain-style (‘da’ in ‘[na-adjective] da’ becomes ‘na’ and ‘da’ in [noun] da’ becomes ‘no’.] 2 A
(IC) = ...., and in addition, ~ ; ...... , and what’s more, ~ ; .....and, moreover, ~ ; not only .... but
also ~/

TR

ZWEWHA N
BEEOE IE < = for (the purpose of) for hygiene management, for management from the

viewpoint of hygiene (sanitation) /
Lat <topic particle> /

HJ: N % = more than anything, more than others/

/EE' LT &DHFXI, J =special-humble-verb of ,EE LT WX = be paying attention now
* & D FI g1 =special-humble-verb of LNE 3 sg2 = stay, there is ~, have, exist

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

(-1 /9 Ea2— T)

W5iFA

rZFoF_T —& —L% ’Jb“’( L\% c_é:(,zt ﬂT?b‘o 1

ZWEWH A D WO &> ZWEWLWHA )

B IAAEETY, hEbic BEx 5 HL 72 ME. BAmoSBicE, FLhs TRLT
%Dig_o 1 =

(At the interview)

A “What is the thing which you pay attention most in your shop?”

B “It is hygiene management. As long as we serve meals to our customers, we are cautious
(watchful) for hygiene management (for management from the viewpoint of hygiene (sanitation))
more than anything.

[ 132 (the same as JLPT N2 Official [ 142)

D S>h< D Sh<

HE¥9 % = <plain-style-nonpast-affirmative> of 8% U % 9 g3 = study abroad, to go abroad to
study /

X T =until /

bzl

=1/

|& <topic particle> /

L&A & T wn

5 aHY BT W3 5 = the world which | am looking at

* %T L% = <plain-style-nonpast-affirmative> of %T W& 9 = be seeing now

* %i@“ sg2 = see, watch, look

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
hY <subject particle> /

g'( = everything, all /
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2 = [na-adjective / noun] /2 = <plain-style-nonpast-affirmative> of ‘{na-adjective / noun] T9’ =
is/
¢ <quotation particle> /
%o’( UL/, = was thinking = <plain-style-past-affirmative> of ,L,\D’C LWE 9 = be thinking
now
,h\b\iﬁ' g1 = think
* [te-form] W& 9 = 1 be doing now 2 <situation, state> 3 <habitual repeated action>/
%Lat = to tell the truth, actually /
[T A @ =just, only, mere, slightly /
/BJL\\é@: = small /

l,\7:‘>§_< 3 A
—&f4> = a part, one part /

AQA QA

' hun 50 W5 R 3R A

{%m\ RO [FAD NEB —HATRN 2 & 12 UAMETNT WMo T =1 only

noticed that that thing is not just a small part of the world.
* [na-adjective / noun] T %X L\ = is not (are, am not) = <plain-style-nonpast-negative> of Td %

* [na-adjective / noun] T % = <pIain-style-nonpast-affirmative> of [na-adjective / noun] T& D
& 97 which is more formal than ‘[na-adjective / noun] T3 =is (are, am, etc) /

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /
* LA = only, nothing but, nothing else except for <L A" is always used with the negative, but

the meaning of the whole sentence containing U %" is the affirmative in English. Example: nihin-

go shika wakarimasen = | understand only Japanese.>
* LA\ is put right after the word which you describe by it. To put U %", follow the below.

Xi& — XUH + negative

XHY — XU D + negative

X% — XU D" + negative

XIZ — XIZ UH + negative

XT — X7T UM + negative

X& — X&E U + negative

X~ — XU + negative
PAg %‘?T“@“ + U= g? LM & D EXREA (ltis just adream.) > We change & in ‘TlE D T
A (the negative of T9) to L H.
DAY %}’C HODFXIT + Uh = %QT L B D EREA (Itis just adream.) — We put U H right after
%)T“ and make the negative.

*‘:
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* ’7%1%%\’( L& hy - 7o = didn’t notice = <plain-style-past-negative> of of ’7%1%%\’( WET =be
noticing now

“(X)lc SH= T g1 = notice (X)

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

2
T n B\ WE 33 A =
{FNDHFED FAD NSIE —ZH T UM RN 2 & [CT{KDWVWT WEH >} =1 didn't

notice that that thing is only just a small part of the world. / | didn’t notice that that thing is only a
very small part of the world.
* [na-adjective / noun] T UL D &L\ = plain-style of ‘{na-adjective /noun] T L) H D FEA =

(X) is only ~
* [na-adjective / noun] T » D ¥9J + LM =[na-adjective /noun] T LM HH FEA

3
®hn 50 WE R 3R A =
{(ZFNI RO FAD INSH =AY I BW & TUM{EIWVWT Wigh >/} =1 didn't

notice only by means of the fact that that thing doesn'’t exist in just a small part of the world.
* |C <existence particle>

* 7&\L) = don't exist, don’t have, there is not ~ = <plain-style-nonpast-negative> of % D ¥ 9 g1
(exist, have there is ~)

®hn 50 WE R R A

(FNDHRD FAD NS ZEA IE LA B 2 & T{ETWT WEH 57} = That thing

exists in only just a small part of the world and | didn’t notice.
* |C <existence particle>

* 72U\ = don't exist, don’t have, there is not ~ = <plain-style-nonpast-negative> of % D ¥ g1
(exist, have there is ~)

*(X) I LD 720N = plain-style of “(X) [ LD D £ A’ =~ exists in only (X)

* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] ’is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence. * In addition to ‘[stem of i-adjective] < T,

‘[stem of i-adjective] < ’is also used to be more formal. /

AQA A

[c/
g 2 x>
SATWT Wigh o 7z = didn’t notice = <plain-style-past-negative> of of [ WL\ T W& T =be

noticing now
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Ealel
*(X)IZ [fFZF T g1 = notice (X)
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

V)@of) 2 hn EoRS) '®hH W

BE9 3 i‘c 5FA 3 E \75\ E‘C w3 ﬁﬁb“ INTCRE & BoT L\Tco = (4 FhHN RO (T
h@d%ﬂfﬁ%'?b#ﬁbgiﬂgﬂﬁb?b&ﬁoto=

Until | studied abroad, | was thinking (I thought) that the world which | was looking at was
everything. To tell the truth, | didn't notice that it was just a very small part of the world.

P11
(133
oh
(/XY O ZfEW 72HY5) = while using a personal computer /
A
MfaZ. = Excuse me, Listen to me, /
FZ &L FTWSAED S

Z (Dﬁﬁ 2 Tc FHEHLEE = the calculation function which (X) taught (Y) the other day

* ?5(2_71 = taught = <plain-style-past-affirmative> of %ﬁii@' g2 (teach) /

ﬁo T #fc? 1 =tried to use? = <plain-style-nonpast-affirmative (question-form)> of ﬁo T &
i@“ sg?2 (try to use, use and see how)

* ﬁb\iﬁ' gl =use/

* [te-form] &+ E 9 sg2 = try to do ~, do ~ and see how //

FWESAED S DO

A TRZ. COR HAl SHEME BT 7 =
A “Excuse me, did you try to use the calculation function which | taught you the other day?”

B 'S Ao =VYes. /

Ai’( HAIRIC H%F'eﬁ% MMF T fo D = the fact that it took my time so much until now

*IMF T o = AT T Wi =it took one’s time = <plain-style-past-affirmative> of 77T WX
(It takes one’s time)

* H#Fﬁ’& MFE I g2 = take one’s time /

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

Y <subject particle> /

A QA QA

1
EDMEHL LY ,ub\’d': 955D T=R>@EMENLLW ,ub\é': 95 HDTI, LT =

It is the thing which | have a fool experience and ......
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*[EDMED U LY = stupid, lacking the ability to learn quickly, slow W|tted
&b
* BUW\\%Z 9 % = <plain-style-nonpast-affirmative> of ‘[adjective] ,ub\é': LE9’ =1have a

[adjective] experience.
* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another

sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] ’is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence. * In addition to ‘[stem of i-adjective] < T,

‘[stem of i-adjective] < ’is also used to be more formal. /

2
(EDMED L < UZ_% HD T=EMEDMLL /uz_%> HDTY, €L =

It is the thing which | can think that it is fool and ....
*[EDMED U < = adverbial-form of (EHMEH U U (stupid, lacking the ability to learn quickly,

slow-witted)

UZ_% <plain- style nonpast-affirmative> of ,b\xi? (can think, be able to think) which is the
potential-verb of ,b\b\i"é' g1 (think)
* To join the sentence which ends with [i- adjective / na-adjective / noun] 39"’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] ’is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence. * In addition to ‘[stem of i-adjective] < T,

‘[stem of i-adjective] < ’is also used to be more formal. /

3
(EDMED U W ML\%‘: 9% < 50\ =to the extent that | have a fool experience
Lat MMEH U LY = stupid, lacking the ability to learn quickly, slow W|tted
,ub\% 9 % = <plain-style-nonpast-affirmative> of ‘[adjective] ,ub\%i L&¥9J’=Ihave a

[adjective] experience.
* [plain-style (but, ‘da’ of ‘[na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’ must be
omitted.)] < 5\ =to the extent that ~ (N2 No.23A) //

4
EMEH U < UZ_% < 5L\ =to the extent that | can think that it is fool
* [ EDMED U < = adverbial-form of (FHMEH U L (stupid, lacking the ability to learn quickly,
slow -witted)

,u\z_é <plain- style nonpast-affirmative> of ,uz_iﬁ' (can think, be able to think) which is the
potential-verb of ,L,\L\i? g1 (think)
* [plain-style (but, ‘da’ of ‘[na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’ must be
omitted.)] < 5\ =to the extent that ~ (N2 No.23A)
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PAQAQAS
fJ\’/‘I_/fC\/u
( ) BB (T = simply, easily /
C & fc = was able to do, could do = <plain-style-past-affirmative> of T& ¥ 9 sg2 (1 can do,

be able to do 2 be ready, be completed, be finished)
&Ko 1 =...., you know? ; ....., I tell you. ; ...... , | am convinced. //

[AFS U oA . . . &b - b\/ufc\/u
BS5Ae SET HAKICEREZ NI TR DN ENENULL BZXE {S5VHEIC TEL
cl:o 1 =

B “Yes, | did. | was able to calculate easily to the extent that | can think that the fact that it
(calculation) took my time so much until now is fool.”

'TU &£ =1thought you'd say that!
XY AV Z & 725 =if (X) is talking about things about a personal computer, if (X) have any

problem about a personal computer
M HE T =less polite than EMET < 72E L) = please entrust (X), please count on (X)

ES)
* £t £ 9 g2 = entrust, leave ~ to (a person)
&Ko 1 =....,you know? ; ....., I tell you. ; ...... , | am convinced. //

ATTU&L, XVOVD & 35 EHETL, 1 =
A “l thought you’d say that! Please entrust me about a computer.”

(134

Thb
(E5E ) = on the telephone /
PERE,

LLIFF = Yamanaka /
%, =1
2L 5EAEN
AW A = Mr Mimuata (teacher, professor, doctor, lower, author) /
T W5 > UL »WXT = special-deferential-verb of ‘[na-adjective / noun] T9’ =is (are, am,

etc) /
M. <question particle> /

PERBM =L 5FAEN -
WA T3, RNEET WS> LeWET D,
Yamanaka “!! Are you Mr Kimura?
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L oiEh PEREHM

ABHRR®DILIH = Yamanaka from AB publisher /
T &2 ULWE T = special-humble-verb of ‘[na-adjective / noun] T3’ =is (are, am, etc) /
HY. = <used to show a hesitation before asking a question or making a request>

ABERRD LT S WETHY
| am Yamanaka from AB publisher, and ......

(AF:S

SH5 = from now onwards, now /

TS

[R#8 = manuscript, written composition or document; author's text to be submitted for

publication; copy
%Z <direct-object particle> /

&
WelZE IT ED>TH KBLW TULU & 5D . 1 =May | come to your house to receive it? Is it
OK for me to come to your house to receive it?

* W2 ZE X9 (I receive it from my superior)

*Wel2E 1T HHYD £9 (come to a superior’s place to receive it) # W2 & (T ?&éc E3C
W2 E IT HH > TH LW TT (may come to one’s superior’s house to receive it)
*WEEZE ITHIN>TH LB L W TI (may come to one’s superior’s house to receive it)
*WEEZ ITHI>TH £BULW TI D (May | come to your house ( = my superior’s

house) to receive it?)
*WEEZ ITHIN>TH KBLW TU & 5D <more polite than the above expression>

* [[plain-style (‘da’in [na-adjective / noun] da’ must be omitted.)] TU & S A" = It is more polite
than ‘.... T9 AV and it is often used when you question your superior. //

(AF:3 FhZ>

%
SHhio Rz WEZEIT EN>TH LBLWTLEDD,S =
May | come to your house to receive your manuscript (copy) now?”

=2L5

AR+t = Kimura /
rHEF Ao =1am sorry. /
FIZ TET WKW ATTY, =(X) haven’t completed it yet
* TE T LWRL) = be not completed = <plain-style-nonpast-negative> of T& T \LWXJ = have

been already completed
* TEFXJ sg2 =1cando, be able to do 2 be ready, be completed, be finished

* [te-form] L E 9 = 1 be doing now 2 <situation, state> 3 <habitual repeated action>
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* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A4 T9=...... , | wonder ; ...... ,

| doubt ; ..... , | want to draw your attention ; ..... , | want to emphasize ; ..... , | really want to say so
; because ...... — A can be changed to .

=285
AN TTHEFA, X TETLWRWATY, =
Kimura: “| am sorry. | haven’t competed it yet.

Ho M

& & 3 H = for another three days /

TR

—

ES

Fo>THWTIT D FT, =(My superior) is waiting
P E5ET = wait

“Eo5T WET =be waiting now

* %9’( T TI = (one’s superior) is waiting now

* é-_F’D T BWT T 72D XTJ = (one’s superior) is waiting now

2

) %“5 Eﬁ LEFT &0 %9, = will be waiting for (my superior).

* %FB 9 = wait

*H %6 L& =lwait [>humble-verb

B T%E Eﬁ ULZE9 =I1wait [>humble-verb, more polite than the above expression

*H %15 Eﬁ L/Jﬁ:b“?"é” =|wait [>humble-verb, more polite than the above expression

B %6 EFS bJﬁ:H“c LEJ =1 am waiting now / | will be waiting  [>humble-verb [>[te-form]
WETJ =1 _be doing now 2 <situation, state> 3 <habitual repeated action>

*H %15 Eﬁ L/Jﬁ:b“‘T & D XTI =1am waiting now / | will be waiting [>humble-verb, more
polite than the above expression [>#& D £9 g1 = special-humble-verb of L\E 3 sg2 = stay,
there is ~, have, exist /

3

ﬁ fegE T Wee< 2& I ULELU &S D = Shall we decide to wait? ; Shall | decide to wait?
FEEET = (X) wait

* %Tcﬁ’( W/e/2ZE £ 9 =1wait [Dhumble-verb  (Lit: You let me wait and | receive a favor
from you.) D%f:ﬁi@“ = make (a person) wait = causative-verb o of ?%“5 F9 g1 (wait)

* T%T:ﬁ’( W/zfe< 2 & I UEXT =1decide to wait [>[dictionary-form] 2 & I UEXT =
decide to do ....
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x

“FleBT WeE< T& I UFEU & S = Let’s decide to wait.
Sk

ES
*TFleET W< & I UXU &S D = Shall we decide to wait? ; Shall | decide to wait?

N

fFoT Wt blF IZiE WEXREAD, =Can’t | have you wait (for me)? ; Can’t you wait
(for me)?

P HEEET = wait

* T%') T WeZZ XY =1 have (X) wait (for me), (X) wait (for me) (Lit: | receive a favor from
(X). The favor is ‘waiting‘.)

* %FD’C WeZ< Dlf T iF WE X E A =1 cannot have (X) wait (for me)  [>[dictionary-form]
T T & WEFXEA =1cannot do ... because | have some reason. (N2 No.44)

* %Fa’( Wee< blF T iF WE XA H =Can't | have you wait (for me)? ; Can’t you wait
(for me).

AQA QA

b & 3 El o T WS biF IKiF WEFREBA DN =
Can’t you wait for me another three days?

(135

S50 5 L \*—’i cle3 >

(FEHRITLE KERE A N D « % E 2 —T) = in the interview with Mr Yamda Tarou who is
an astronaut

PEL

LLIFH = Yamada /

F%Lat\ = as a matter of fact, in fact, to tell the truth /
7% 55 = from beginning /

S50 5

FEMITLEIC 733 = become an astronaut

* 78 % = <plain-style-nonpast-affirmative> of 7& D £9 g1 = become /
PAQAQAS

1
SEw>S S
(FERGLIC B2 25D Bofe M 5T WS & =

If I ask myself whether it is true that | intended to do become an astronaut or not,
* [dictionary-form / nai-form] 2% D 72 - /= = intended to do ~ / didn’t intend to do ~ = <plain-

style-past-affirmative> of ‘[dictionary-form / nai-form] D% D T9 =intend to do ~ / don’t intend
to do ~

* 27T <quotation particle> = &

* L\ D = <plain-style-nonpast-affirmative> of %b\i@“ g1 =say
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* [plain-style] & =.... and naturally ~, ..... and consequently ~
* [plain-style] 5 > TWL\D & = If | ask myself whether it is true that ~ or not,

2
S5p>5 0

FERTLIC B3} 25D B D H >T Wohib =

If | am asked, ‘Do you intend to become an astronaut, | wonder?’
* [dictionary-form / nai-form] D% D 7% @ = <plain-style-nonpast-affirmative> of 26 D 7 O T

.g—
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® TI=...... ,  wonder ; ...... ,

| doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., | really want to say so
; because ...... — @ can be changed to A.

* ©7C <quotation particle> = &

* %bh?‘:% = If (X) is said, if (X) is told

* %bhi? = be said, be told = passive-verb of %L\i? g1 (say)

* [plain-style-past] 5 = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~ and | tell
you what happened

3
75@

FERGLIC 531250 U Aol D 5T Whhib =

If I am asked, ‘Didn’t you intend to become an astronaut, | wonder?’
* [dictionary-form] 26 D U % Z&H > fc = didn’t intend to do ~ = <plain-style> of ‘[dictionary-

form] D6 D U » D XA TUK which is the past-tense of ‘[dictionary-form] 26D U »

% D £H A (don’t intend to do) that is the same meaning as ‘[nai-form] 26D T3’. D U»—>T
(&

*@ = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] D TI’'=...... , | wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., |
want to emphasize ; ....., | really want to say so ; because ...... — @ can be changed to A.

* ©7C <quotation particle> = &

* %bht 5 = If (X) is said, if (X) is told

* _bhiﬁ“ be said, be told = passive-verb of § L\iﬁ“ g1l (say)

* [plain-style-past] 5 = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~ and | tell
you what happened

4
5595025 L

{(FERITZIC B3y 2ED N> > T WS & =

If I ask myself whether it is true that | didn’t intend to become an astronaut or not,

* [dictionary-form] 26 D ' 7&H o fz = didn’t intend to do ~, didn’t have an intention to do ~
= <plain-style> of ‘[dictionary-form] D& D A% 3 D ¥ A TU fc which is the past-tense of

‘[dictionary-form] 2% D A¥ &% D £ A (don’t intend to do ~, don’t have an intention to do ~)
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that is the same meaning as ‘[dictionary-form] 250D Uy D XxHE A and [nai-form] D& D
<9 DU»—->TIE

TR

Z5 L7\ AT, =(X)is notso ((X) is not like that). | really want to say so.

* [na-adjective / noun] U ¥ %X L\ = <plain-style> of ‘na-adjective / noun] U D XEA =
not, are not, am not D> U »—>TIl&

* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A4 T9=...... ,  wonder ; ...... :

| doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., | really want to say so
; because ...... — A can be changed to .

LA r2id. 76 s FERELIC 82 260 Eok O D 2T WS & 25 Ub AU A
-Z\'\_g_o =

Yamada “Yamada “To tell the truth, if | ask myself whether it is true that | intended to become an
astronaut from the beginning or not, it is not like that. (it is not true.)”

\Jt
\Jt

AT

AKFE% H:‘lfc_ 5. =If (X) graduate form a university, When (X) graduate from a university, After
(X ) graduate from a university
* |':|:'|7i_ = <plain-style-past-affirmative> of .':l:li@“ g2 (go out, leave)
* [plain-style-past] © = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~ and | tell
you what happened /
IL\E% = a doctor /
(c/
735 S = volitional-form of 7& D ¥ g1 (become) /
& <quotation particle> /
iio’( W& U 7z = (X) was thinking ~
Ukﬂi@“ gl = thlnk
* [volitional-form] & ,ub\i"é‘ = | think that | will do ~
* [volitional-form] & & ,uo T WZX 9 = am thinking that | will so ~

M5, 1 =because ~ //

ZWH< T — Fok) -

j(%% ijc..b I:% 7;5') é_’_,%l\j'f L\ibﬁ: b\bo 1 =

Because | was thinking that | would become a doctor after graduating from my university.”
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SV . , . , , .
sC#& = reporter, journalist, one who gathers information and writes news articles /

TT“LEL = if that is the case, then /
?ELJ = what /
Y <subject particle> /
>1 ~ HY E>HIF T, =with ~ as a start, taking advantage of ~
*E 9‘7'3\ |7 = opportunity, chance, pretext, handle, beginning, origination, outset, prelude, cue
>2 %75\ = > H\F T = with (what) as a start
>3 %75“ ZoMTF T~ ULELED, (normally, past) = What made (X) start to do ~? ; What

gave (X) the opportunity to do ~?
S50 5 U

FEHMITE = astronaut /

[/

2D 1\ = want to become
* [masu-form] 7z L\ = <plain-style-nonpast-affirmative> of ‘{masu-form] 72L\ 9’ = want to do ~

/
t <quotation particle> /

,uo e ATY D% 1 = Did (X) think, | wonder?

d"a%
* B o fc = thought = <plain-style-past-affirmative> of ,b\b\i¢ g1 (think)

* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9=...... , | wonder ; ...... ,

| doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., | really want to say so
; because ...... — A can be changed to .

757

S Told. N = oA T ALz 2D 2 EBote ATH B =

Reporter ““Then, what made you start to think of becoming an astronaut?”
“What gave you the opportunity to think that you wanted be an astronaut?”

lw
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